HW5

e

) B0y HRLBI Y = (371004 <622y
=< CI, 8}

2) <l"‘”2>. <q’)l13>: -3 +6:1+2°3

SFHGHO
=19
3) de*[? 2l =3y -20)= -3-2= -§
.
"}) Lot x<2,1,3y = b r? oj f]
EN 3
=°f¢\e4[_°‘ ;] jcl?"'[’ l]*" da[ ]

= _E(o—l) —j (3-2)+& i"' f.v)
= <-[,010>+(Ol-[lo>*<olol,>

= AL
5) F‘l(-t):<2,t,3,-é->
r(z)= <") 3,3

b)f rm‘w{t at, €43, ¢ dt

(8-, (-G, -5 >

~<1
-< +3)7o-—— >



Tl = fa‘m Jdt

’f{o,z,s) at
= KO, 24 5E> + <065

>
U= N(0) = <0007 O 4

given coledTid
::> <l,l,-[>:<<a,(z,(3>

Toss  on v&éouf? 'f»f:t.,\ 'S
V= <[t SE-1>
Now wat

F’zﬁ:SJ(mt
= §<l,&f+l) S¢-1> dt
Y, g SR>
<42,35 = i) - <0,0,0> F<Cy, 650N

— Y. — L——’_W—\/
FHen Cellefoiac !

= <G,G,0>% <2, 3>

Tos 0w potclic, foodis, s
PlE)= Kbl Crt ez, Te5E43 D



